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1. Please calculate =+==7? (A) = B) — C) — D) —
(D) ,to=? Wy B O O

AT : T8 — - =
( B ) 2. Which of the following group highest common factor is different to the

other group? (A)60 -84 (B)90- 126 (C)24-36 (D)48- 60
BT BE : MBS AARSERE ZELRE

BAAAZE =(A)12 (B)18 (C)12 (D)12 - ..3E(B)
: 1 1
( C ) 3. FromA county to B county, Bill spent 3§ hours, John spent 55 hours,
=
D

what is their ratio of two rates? (A)3:5(B)5: 3 (C)39: 25 (D) 25 : 39

BRAT B {E ASEBIBEE - tb_imaguxa% ) S%U\B%E_@U BTSRRI B M <
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ii:?8=50:39:25§6i1= = =50:78=25:39
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( C )4 BERCEER 3.5 » A THIH—{BNARIELL <

(A)7:2 (B)1l: ; (C)2.1:05 (D) 3% t1
%@*ﬂtm@:(mz (B) ! (C) 21 (D) ! 3B (0)
2 2 5 2

( B )5 288 A ARKBER—S @ 8k 16 ARG—ZES » BEMINEIEE
I SIEERHEBEAIEST (A)18 (B)19 (C)20 (D)21%
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BRHT : 288+16=18" 18+1=19 %

( B )6. 3+4%+88’9P§$UTE@B—1@§E§B’Q%$$QE‘?

3 9 3 2 8 9 8 2
A) —x— B) —x— C) —x— D) —x—
A gxs B gxg  ©ox5 (D) oxg
BEAT - 3+41+8:3+g+8:3><g><1:3><1xg:§><E v LE(B)
2 2 9 8 9 8 9

( D )7. CEHNZE @ 1 EESHRB—EIEE @

12cm
(A) 10cm (B) : 15cm
10cm) -
<:> ) 10cm

10cm 10cm

I12¢cm

B ) =AHEEBX 12 cm ' BBALEEENE 10 cm

@ =AiES 18 cm  BEZENS 15cm » .". 3E(D)

( C )8. BB X  A—&R 6 ARGFIE—BIFEELS
B » EBREFEANICENEMBEANEZDF
PRR < H2  |gm

(A)56.52 (B)67.824 (C)84.78 (D) 90.432 T30

BRAT - 6><6><3.14><%:84.78 THAR

( A )9 NBEHEHE 1980 ARHUWSEL - & 12 WERFIODS  BESEZER
PERNDREZDINE* (A)19.8 (B)20.1 (C)21.2 (D)22.4
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BRHT : 1980%2=3960 * 3960+12=330 * #HE 330 A=K 19.8 N8

( D )10. IMEFEIHR

AE - WSS 75 ADIIMEZR T RER 100 27

—B5% > & 6 MRWAR - FIREGESDND 7

(A) 500 (B) 600 (C) 700

(D) 800

BEMT ¢ 6 /83/X=600 37 * 75 : 100=600 : [ ] > 600=75=8 * 8x100=800 X7

( A )11 2E (§+£)+11=D’D=‘?
1 7 3 3

X
1
5 58 8
A) 1> B) 228 oy 4.8
(A) 1 (B) 99 ©) 1
6 3 1 1 98 163 16 .5
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( B )12. BRPEEZER/—RIOE  KIULZIVILEEHIEERE <

(A) 2550 (B) 2660

(C) 2680 (D) 2820

BRAT : 10x10x3.14x10—8%x6%10=2660cm?>

( D )13 BB @ SRAUSEEEB

AEB

43
D) 6—
(B) 65

o |

(81 : D)

FHAUREE - B R 3R

 BIRERBNE <
(A) 1.2 (B) 1.4 et 3
(C) 1.6 (D) 1.8

BRHT : 3x600=1800 > 800 NR=1.8 N8B
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( D )14 REIHHEMELL 60 DREE » E5—X3B 80 D5ciw+10 » E_RECH
—4 0 FE=RZ 727 GRHIDER 62 0 » AIEIURNIERERD
Hhe (AV+3  (B)-3 (C)-4 (D)-8

BT : 62x4—80—(60—4x2)—72=44 » (60—44)+2=8 °

" BNELL 60 MK 0 FESCAm—8

( D )15. B1\(-95)x195 BIEEE NI —E:RIGATISRIBVETE <
(A) (—195)x100—(—195)x5  (B) 200x(—95)—5%(—95)
(C) 5x95—200x95 (D) 195x5—195x%(—100)
BT+ (A) RTN=(—195)%(100-5) (B) RT\=(200—5)x(—95)
(C) R =95x%(5—-200) (D) BRI =195%(5+100)

( C )16. thE2%° ~ 4% 8 YK/ \EEHRARM @
(A) 230>420>810 (B) 420>230>810
(C) 230=810<420 (D) 230=810>420

%g;‘;ﬁ . 420=(22)20=240 y 810=(23)10=23O y L. 23O=810<420

( C )17. E%E@1@%E%¢%Eﬁ SR THES w1 | 55mm)
BEHNEESRS T B | 1.68x10™
(A) & & 38x107°
B) & 49
S
©) 7 100000
- 25
D) J 4000000
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RN : & ¢ 38x10°°=3.8x107°

I 49 =49x107°=4.9x107*
100000
25 25

r_SF  _2Y %107%=6.25x107° > .. ANEEES
I 2000000~ 4 Ll

( B )18. BB - CMEIR » BEIR LB A(-8) ~B(0)~ C(6) ~ D(10)/I{EES -
CEURIKRBE(n) ~ F(42) ~ G( 54 )=1B%5 - BASMBURNT—IE -

IS ERA-FEC-GEDHEE  BlnBEDD

A B C D
L 2 —&- —& —F>
-8 0 6 10
E F G
—— —o—p
n 42 54
(A) 3 B)0 (C) -3 (D) -6

fRMT: CD =10-6=4° FG =54-42=12° AC =6 (-8)=14 >

EF :12=14 : 4 » EF =42 » .". n=42—42=0

( C )19 EREBEEMNBHSE  BATER 22 7T HIET 120 AT 1R
SIS MEERIEIT  IBET 22 STHE - BEDFIBLT 12 AT
BEERZE 30070 £8ER SBHIYBSHTE* (167=0.6 2fT)
(A) 980 (B) 1010 (C) 1020 (D) 1050
BRAT © A : 22x120+300=2940 T
€18 : [(120-12)+-0.6]x22=3960 JT °

.. B8 : 3960—2940=1020 JG

( A )20. 58 2015x1999-1998x2016 ZERZ ¢

(A) 17 (B) 0 (C) 7 (D) 27
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BRAT : FRT\=(2000+15)%(2000—1)—(2000—2) % (2000+16)
=(2000°4+14x2000—15)—(2000°+14x2000—32)

=(—15)+32=17

(A )21 JUIINPR—EEN - $$IRESE 2 - 4~ 5 HFEBLIRMAREIE > AEARAREY

e E1HE ZE2HE ZE3HE FE4HE ES5HE

1 2 4 8 16
3 3 5 9 17
5 6 6 10 :
7 7 7 11
9 10 12 12
11 11 : :
17

(A) 26 (B) 27 (C) 28 (D) 29

BEMT : 24+8+16=26

( A )22. —BI5=/IB 50 f8 ' AREAFDIGEE » FTLAZECS 6 58 ®T
FEEREEF D ZEIBZEE 458 FTHIDROBG DT » BEAR
RE 30 A BEAZTEEa AT b A > AE atb= 7
(A) 28 (B) 29 (C) 30 (D) 18
BT D S0BAEBE 125102550 50—6=44 :
Q@ 44BREHE 1241122 44> 44—4=40 :
@ 40HRHAE1-2-4-5-8-10~20"40:
@ AEUE 40 BIREN » {B-RBER 50 BX 44 BIRE > FI24HE 8 AT 20 A :
& a+b=8+20=28
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( C )23 BERBEFHNIL 1911 MB0ETFH - HIU - KB 80 & FEITilE
80+1911=1991 F » SHEREFIT 2015 F * FE ML _1ESD <
(1) B—TR (IR) FHERIBORE—I
(2] IBEEHFRLE 4
(3] SA%&N0L 20
(4] BB3REA 25
(5] #ESEINEHEENLL ]
(6] REBE—ELTR > FEBHEREIM (IR) BENI—IGTE
RAEM (R B—E={IENEF  E—EHZEIR (W) F
HESRIROURE NI - B TIRAMEMR (IR) OERREE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT DFESRISREB I X =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ ]=2015 [ 1=1515

( A )24. 3B - BCEF B¥1TM:ER - =—A ABC E—1@
EBR=BF 'BCR8AQD 'ACRTAD ' EX
o EELL=/AF ADH IEREX 12 R0
XK HCHIRE -
(A5  (B)45AD (6D  (D)5.51D

BRHT : atb=c+12 * a+b+d=c+d+12° A
BCEF Ef&=B/8/ABC+12=8x7+2+12=40 > a5 b
BCxHC=40 * 8xHC=40 » HC=5 A7 i
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( B )25 {E49R2BEMEBE—RUR B & ARREA - st 37 RERRERH
fGRE PBISE JFI10R AR 128 - BREDVBEBIDERES
L RHRIEE T
(A) 4 (B)5 (C)6 (D)7
BT O URPZ1IR = B16 R ARIUUE = H23 R BIPAEE
Q URPBZ2E = B1I7R:RI10E > A2 K HIPAEE
Q@ URPZIZE=>BIBE:RIZIR = R21E - HIBAEE
@ URPZA4E > B19E:RIZ8R = N20K HIBAEE

G UWRPZE5E > H202: RIT7T8 = F192 HIFEE

— 5188 (ZE257)

SR T RREETE—EE6:00°247:30 R 9:30 ZB—IETHE
tt » B & RIS EIABE) - Al

1) EREESEREZYD ® (107)

(2) 11: 40 HIGRERFRDEHILULE » LBERIE = (15 7)

,_\
ot

BEAT : (1) 7 : 30—6 : 00=1 : 30=90 13
9:30-7 :30=2:00=120% (90, 120)=30 7
(2) 11 : 30+30=12 : 00
% 12 : 00-11 : 40=20 D
4% (12 : 00—6 : 00)+30+1=13 P15

E:(1) 302 (2 F207D 0 E 13 PIE
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2. t—RERL A8A~-B~C~-~DUI A B C

B2 R SRR RS R + 55240 35

G (8i1: RE) 13

OO m >

14

BZ(1) : A~ B~ C- D BMm@NHhrEDeNEGE* (1072)
A (2) : W A F0mD B <RI RS DNE = 3R\ - (157)

BEMT ¢ (1) 4AC =35®/%K ' A~ CERTHRE

(2) 21=13+8= CD=BC+BD .. BEC D2

35 35
14 l 8)1 o 1/31 81 hl B
A D B C B D A

AB=14+8=22 NE

a4

E:(1) A~CERANESG : (2) 2212
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